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i FgHome % i#Visiting @ i (10) > g [MP > VP = pF 48 VP fid:-Z -2 A RIZ:1 ~T7 4% RI2 : 8~14 &%
1 :
;5 It & ;5 It & ER; 3| RV EN; Y BV AH BV AR ERV|#% | BE 34 AP COP | # % | % ;33 BVP CoP
1] 1 K 13 PN 16 | 30 | 5.46 |14.54 [134.72 |180.19 |5 |1 [1 |13 e 180.19 8 | 8 Wi 12.71
2 | 10 | Dragonite 11 Ch;i;’fe 9 35 | 2.84 [17.16 | 91.05 | 97.37 |13 |12 | 2 |14 | Catchall |140.13 9 |4 e 104,71
3|3 Oceans 12 LA 15 | 27 | 6.00 |14.00 |139.74 |136.001 |3 |4 [3 |3 Oceans 139.74 0 |5 Woods 103.47
4| 4 e 6 ER. 28 6 |16.39 | 3.61 |104.71 [119.45 |9 |7 |4 |12 A 136.01 11| 9 | AymEsE | 100.66
5|5 Voods 7 Cyclops 8 33 | 3.03 [16.97 | 103.47 [131.43 |10 |6 |5 |1 R 134.72 12|11 Ch;;(li:;ge 97.37
6| 8 g 9 | AEEgE 13 | 14 |9.61 [10.39 | 112.71 |100.66 |8 |11 |6 |7 Cyclops 131.43 13 [10 | Dragonite |91.05
7| 2 AR 14 | Catchall 20 | 39 |4.25 |15.75 | 88.36 |140.13 |14 |2 |7 |6 . i 119.45 14 | 2 Y 88.36




